
SHEET: 1/2

RANDOM ORBIT SANDER ROS-125/300-PRO

ART. NUMBER: 46757
MODEL: RANDOM ORBIT SANDER ROS-125/300-PRO

POS. CODE DESCRIPTION QTY
1 A09092 BOLT M4x16mm 4

2 A09091 PAD 1

3 A09090 PAD PLATE 1

4 A09096 BRAKE RING 1

5 A09058 WASHER 4,2x20,2x1,5mm 1

6 A09210 BALL BEARING 6202 2RS 1

7 A09059 BEARING COVER 1

8 A09060 SPACER 15x26x0,5mm 1

9 A09061 FAN 1

10 A09062 SCREW ST 4x14mm 7

11 A09063 COVER 1

12 42432 BALL BEARING 629 2RS 1

13 A09064 BOLT M4x8mm 2

14 A09065 BEARING PLATE 1

15 A09066 DUST COVER 1

16 A09067 ARMATURE 1

17 A09068 RETAINING RING 1

18 A09069 SPACER 7x16x0,3mm 1

19 A03174 BALL BEARING 627 2RS 1

20 A09070 SCREW ST 4x40mm 2

21 A09071 FIELD 1

22 A09072 HOUSING 1

23 A09073 SWITCH 1

24 A09074 COVER 1

25 A09075 POWER CORD CLIP 1

26 A09076 POWER CORD GUARD 1

27 A09077 ELECTRONICS 1

28 A09078 SPRING 2

29 A09079 SCREW ST 3x8mm 4
17/11/2023



SHEET: 2/2
ART. NUMBER: 46757

MODEL: RANDOM ORBIT SANDER ROS-125/300-PRO

POS. CODE DESCRIPTION QTY
30 A09080 CARBON BRUSH HOLDER 2

31 A09081 CARBON BRUSHES, SET 2 PCS 1

34 A09084 SCREW ST 4x16mm 2

35 A09085 WIRING CLAMP 2

36 A09086 INDUCTANCE 2

37 A09087 CAPACITOR 1

39 A09088 RIGHT SUCTION HOUSING 1

40 A09089 O-RING 23,6x2,65mm 1

41 A09093 LEFT SUCTION HOUSING 1

42 A09094 COLLECTION BAG 1

43 A09095 COLLECTION BAG ADAPTOR 1

RANDOM ORBIT SANDER ROS-125/300-PRO 17/11/2023


